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Translate the sentence into English — “©F
3] (5312 Y ="

a) All his efforts ended in smoke.

b) All his efforts ended in the smoke.

c¢) All his efforts ended in a smoke.

d) All his efforts ended in smoking. ans. A

Ended in smoke &¢ e #afre

02.

2T |

Being “down to earth” means-
a) close to nature

b) thrown to ground

¢) hopeful

d) realistic ans. D

Down to earth S¢ d/d fca <SP 94

03.

04.

05.

SN4F * 20T Realistic. 768, Close to nature

wd oFfeq FESIMZ | Thrown to the ¢
feT= 1 | Hopeful 14 ST |

We  should
(Imperative)
a) Respect our teacher.

b) Let us respect our teacher

c¢) We may not hate our teacher.

d) Our teacher should be respected. ans. B

Man hardly believes a liar, -?

a) does he b) doesn’t he

¢) are they d) aren’t they ans. A
Verb form of the word ‘apology’ is-

a) apological b) apologize

c) apologify d) enapology ans.B

respect our teacher.

Apology ¥g Verb 2C=TT Apologize € 54

06.

T34 Y[ 4l | (=8 He apologized for being
late. €I[C#T  Apologize to somebody for
something €% IFCA *H(6 IR0 2 |

A person whose head is in the clouds is-

a) proud- b) a day dreamer

¢) an aviator d) a philanthropist ans. B

Day dreamer &4 @ fvar 37 Acd | @2

Day dreamer (¥ 2@ ‘Have one’s head in
the cloud” phrase {6 %M€ Replace ¥l I I
o SEe; FEES | Proud 99 5ifEe; EmEE |
Aviator ¢ [AUF, TRE q1 @ AT EF
(3NF | Useless oY S&@0&a; TR |
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07. Curd is made ___ milk.

08.

a) of
c) by

b) in

d) with ans. Note

N7 H Make something from or out of something o

(B FT (ATF A GF0 Ja7 OV F4T |
T L 94 (AT MR 7 |

It is high time we (change) our food habit.
Here the correct form of verb is-

a) change b) will change

c¢) changed d) should changeans. C

It is time, it is high time Q&R A

09.

Subject B OF #FT9! Verb & Past tense @9
EX

AT I 4V To5E AfGaeod Fdd GBI Sew
ST |

The idiom ‘bring to book’ means-
a) Book written by a famous writer
b)  Punish

c) Valueless person

d) Impose ans. B

Bring to book =< *I1f@ (Wl TE 1% =

10.

11.

12.

Punish. ﬁ%, Book written by famous writer ¢

[T (F14CF4 92 | Valueless person o TFIT%W
C=TI<R |

We eat to live. (complex)

a) We eat and want to live

b) We eat so that we may live
c) We eat so that we could live

d) Although we eat, we live ans. B

He behaved as though he __ everything.
a) knows b) knew
¢) has known d) had known ans.B

Too many cooks spoil the-
a) lunch b) broth
c) juice d) food ans. B

o4 JAFPEICe NG 92 = Too many

13.

14.

cooks spoil the broth.

The antonym of ‘Honorary’ is-
a) honour b) paid
c) monetary d) respect ans. B

Put the right word in the blank. “He
reached the __ of his literary career”.
a) abattor1 b) acme

c) admonish d) penury ans. B



O] o faea (W a1 sg=rer) por <1 Ak

15.

T 2ed Otd Reach the acme of something
I7| F8 Abattoir F2AA | Admonish o4
7% 941 | Abdicate A ©F1% F47; (20T (WAT |
TR 2R |

No one can ____ that he is clever.
a) defy b) denounce
¢) admire d) deny ans. D

I ‘@ oAIeE Fare AT " WL No one

16.

can deny JITE FACS (A | Q4T Defy o4
SFT*T [AAMCST T4 1 Admire NG 2T F4T |
Denounce ¢ 74T 34T |

I I (FC TAFE Faco AFE A @ G
AFG 5od @ |

O ©OPFTT AC & J ' | The correct
English translation of the sentence is-

a) Reading by fits and starts will not do.

b) Reading by a bird’s eye view will not do.
¢) Reading at a glance will not do.

d) Reading intermittently will not do.ans. B

Tedy, Reading by fits and starts will

17.

not do ¢ Sf«Ffe G & 203 1 | Reading
at a glance will not do oI Y& IFTH AT TG
279 91 | Reading intermittently will not do =i
CATH (AT QR <F1e7 A T |

“Tooth and nail’ means-
a) get by heart b) go with heart

¢) try hard d) get hard ans. C

Tooth and nails &4 et T F4F 2=

18.

Tried hard. 78, Get by heart 5% 1% %47 | Go with
heart S =4 ICSr TET1 |

Antonym of ‘Adieu’ is -
a) farewell b) good bye
¢) hello d) valediction ans. C

s Adieu (STET) ¢ W A1 (AMT 20w e | «F

19.

Antonym I Hello. %8 Farewell ¢ fqur a2
Good bye ¥ @M@ | Valediction =4 @
B |

Which poet is known as the “Poet of
Nature”?

a) John Keats b)William Wordsworth
c) W. B. Yeats d) John Milton ans. B
ST N Willilam Wordsworth 209 Romantic

TN A oo Hf€ | fof  French
Revolution &€l Segelfre 2caf%= | ©tF “The
Poet of Nature’, “A Lake Poet’, ‘Poet of
Childhood’ <=1 =¥ |
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20. He said that he was innocent. (Simple)

21.

a) He said and he was innocent
b) He was innocent so he said it.
c) That he was innocent was said by him.

d) He declared his innocence. ans. D
I am looking forward to ___ you.

a) meet b) meeting

c) met d) meets ans. B

qIt) With a view to, look forward to, mind,

22,

cannot help, could not help, be used to, get used
to, worth 2971Wd #i4 (& Verb SIPTE ©% Verb <&
A “ing’ TS = | OR S b) Te |

% |

He lives __ honest means.
a) on b) with
c) by d) for ans. C

L‘]*H'C;TBy means of 4 (BICT fFRA AT 41

23.

RG] |
AT T FofF 718 ST GFa-T11 4 |

The new job offer was alluring. Here
‘alluring’ means- www.prebd.com
a) Unexpected b) Tempting

¢) Ordinary d) Dreary ans. B

Alluring — GISaF | Unexpected —

24.

25.

SAOI*® | Tempting — e TS |
Ordinary — 14/€9; Dreary — <& |
The main objective of a ‘conjunction’ is-

a) To spare b) To connect
¢) To improve d) To degrade ans. B

Reza ran fast lest he  the train.
a) miss b) missed

¢) should miss d) willmiss ans. C

IR <103 Lest ARRCE ST ST Should T |

26.

ICHT AR @& Fo MIGCares A0S & @6

o1 <11 357 |

ARFATCACT G ARCRHE Bi-

a) ARG b) GTENI

c) fergrsraret d) Sl ans. D

Solution : JRIEGIAIAERUE T EE Ee I i (e Sl

Ot FIEER (GEF TR TS G |
q BT e wu. Sy I 5| =femr @
B JRACACE JCAPIOE G ©6d Ve



SRES (9 T9I4 (MEAR SR_ES GF0 a7 | @3 | 34. T AN ‘s SSF@i; (@RR S[_Ye?
Aol AR (=T #IT%0R | G2 RlCed Sied a) FRTEE, a4 b) EIRISCT, BN
09 TRCIRGHE | FaFI =T (SFT (TFTE G ¢) Frorps , B d) ETSRIeT, *F7F ans. B

TSl | BT %...,”E'm AL 35. 039 AT v [ IReaeea =0T 49
GIeTE MRS 20T | (RYl &% FIREE (G4

GIAE TSR SQFo JIFNCACHT S5 eed RIS T (2
Bl | o a) AMS4 A T b) TqaR @

27. IT-TEE @ TN T IS @I R c) TP = d) FGI 7P ans. B

sifariel s “Hicoe? 36. GV GO AR (1T LI 9P T 2

a) CO b) CO- a) 55 ST, A0 b) W0 AR, 00

¢) S,0 d) CFC ans. B C) R TCIEE, 09 d) Wo IEHE, w0ans. C
28. JREATH WR_MI EEE FORICS LT BT 22 37. & ¢ gy TR *BCPIe (T2

a) €0% b) Yo% a) SV b) duSoY

¢) 9% d) vo% ans. C C) OO d) 000 ans. A
29, fEFe @F @ TR T9g JAICH0E FI?

gt b)?ﬂﬂ;:é 38. 0N I TN AT BAAIRCS oS =W IR

a) Wb, 3590 b) 0 CFFAM S5 Ud

¢) Frerife d) a9 ans. D
) ) ) Ay TG 3599 d) 0 I 59 ans. B

30. el ErSeRITT ¥ fofe 2e-

2) O @ TGS b) ¢ NILTIR 2O (FFAM S5Yd T EPIPT T

o) STl d)aERfe  ans. A (TS CTIESAM SIH) ST T foft
31. AEA FECAF TGS TAME =1 COIFICTT SIRem (4 Yogd T=AF  IHF

a) i g¥ b) G SAMLTS TS Foa |

¢) TEFFE d) 4oty ans. D | 39. ‘AEToET ABOE IRE IRACACI TR TS
Solution:Ji¥; WWJ?%W TR SR ST 4 TR

TAMI ZC6R STHCoIg | 9134 BF: AR a) SCEY- q b) SCRA- ¢

werE, e ode, S ¢ oy | c) SETEH- © d) SvRn- o ans. C

32. o3y fCfeDE wwow@ e 9% SN SR

= s > rebd.com Solution: RINEEICHECRC (61 o IR G E

AZSE IRAT | TR SMET LT oy 4l

a) 8bofs b) 8b-ufG
¢) 850f0 d) 85¢fs ans. D e foqG g ©, W dR 3o YT
g SRRV | QG WO SR - FFerdr,
I SuIL ARECACHE SoATereTra 3122 85¢f5 | ,
— —_— _=. RN 0-4 TSI O GaR SR S¢9-(S
Rt v R JI2ET '8 LA 10 TGS 4 AT |
%T ﬁg il 40. (TR &N Y R @7 (@I (o S1e?
TotteeT 8eo a) GFel b) FFAEA
< %sig o1 (T T&d @ i <l c) bmed d) “GIRET ans. A
coftaeTer 09y e, TSRl
2l 8¢ WWWWWWW
w"’“’ “"‘#;ﬁ (T4 FP[R «de (@Al (& E CIREEE Tgad
MEATSE 7o 82
G156 &Fg G NGO |
33. oM ¢g W IERR Gre e eve o
w7 w7 41. G TIRE QT F2
a) Y0 STR[A, 0%9  b) b IR, 039 a) AFHoT FT b) A
C) S WORE, 0 d) 8 site"d, wvans. C ¢) RIS d) T ans. B
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Solution: BEERCIRE-TEISEIGIRUNC Y Fr AU R
TG WAL 2 I Tl TR TR G FCT
“fea ST fsrm =0 3w = | ffeq arpfes T
@ S S € O, A &R, T 2[R, (6
W& (AP, ACEEE) GO, g oo,

Y Ol 9710 AR *ifeq T |
42. @ ogfe ved P fReitea st idge
a) (G b) @EAGH
¢) - f& faifte d) srRefd ans. C

vt P RuET 1 oEeRl 2 .
(@@T; R, ORI CoFTE (GoR) a1 Ffaw
el ©. [@GF; 8. FFARIO! 1 ORI fF=;
¢. famfas o ar Qe @ v. TPEET o9
f2e37; q. IPCH2A 2 |

43. IgJea w1 Mivee Sferna W Ay TAmME Jfa
ARI?

a) “IGI*rErs b) SIfHCE=
¢) TR@GTE d) TR ans. C

Solution: ElopEEREaRITCR I GERIGRR IS e
A FRQ@OEH | FE @0 fagyesaced g
SHRGTR TAY FA | NRQGCECT AHREGTNR
s siee e RGe «ibre Sevlg 64 |

44. ‘V-20’ ¥ I AL T2
a) TR g b)?ﬁw
¢) ity <= d) TFAIf4E ans. A

Y0k SeaR] Afeqoeite e Al 8b6 MreE
SIEEIE (IR 2T SFFIEF-0’ (f6-20) |

45. @ (it GFRT TRITATIE SeS W
a) P b) ferfg=n
) A% d) &A= ans. B

O ved Sifram o fefear | e sifEea
ey gl OSt | wend e zee
[FiaaTe Gaeite Ya2 =79 | e @=aere o
e AACR AREN W | e foaft aq
o[ 29 facAlferelf=@r, (Fe 8 FaEsr | 25
QEEE AL G wE oE Edifa o |
QI a6 Tgw wifesicad 4 (e e
ST SO 4l (rleferd G |

46. “SEe’ (TG (@ TZTACT SIgS?
a) «Gf=am b) TecE
c) SfEFT d) seifera
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ans. D

AT ST TRICATT TR (7 | 2PIT@
TP ¢f6 Ao A Afve i @t A |
Q&TAT TR NIRRT, fFfaafs, wrew, Irfa
B7E 8 A |

47. 09 T WSS (FIE JFTFE 7O AT (2
a) =7 (=W b) EafaS =i
¢) &« 28y d) F1® feRmet@r ans. A

Solution: RIGRINETICEIC EREL I os I R e
A & NEANGFE 8 AT FGI2 S&AA(
ARE G 09 A e (& J@FE A=
i1 =T (ZA19) |

48. =y Ty Y (WHO) IRETNF &N @ IF

(T FTACR? www.prebd.com

a) (778 b) TRl

¢) TG d) SR ans. C
49. GFAR TFe @l (SDGS) Ffb?

a) 39 b) Str

C) o8 d) 1 ans. A

Ol (G2 e =77 (SDG) « 346 sFyet
gl 5. w9 2. TS ©. s 8.
T B ¢. T oo o, f[Jum A e
AT ;. A 8 TN G b,
%ﬂg@wemﬁgﬁa 5. Mg, T ¢
SRS do. (T Z; 5. (GF2 *12F 8 T3
3. AT (O 0. TEEYEEF AMCEFA; S8,
ofifeq 5 &l 3¢. Feoned &aw; Sv. =ife 8
TR R 39. 7 SE SRAMEY |

50. JEETHE TNE (AR SR_Go?
a) PiERFTes b) A=
¢) RCA d) F2tE=  ans. C
Solution: RESERERICE RS RIS S AT ak]
CTEPTWAT 00b: AT SE FIOIAE & GIF 0
RrFTgETs g 1 S0 1 ATSITS R
FYE 10T “ifave 23|

51. vfere Afere 74w ¢ famm e =2

a) A b) wfenrg
c) SR[FY d) 9@ oe  ans. C
JEISECIRIERSIRESF:

sfere Afe «fadreie | a3 I=a At @ sfere At o1 oo 2 @
HETd Se ©E 4 YU 4 Ermne epfre feE, @wem ez
TEAMA O AAGE] Afqafe® F9 7Te Frars

« s Teq Mg




e AT fFe ¢ e gR TP, SFEP-SEADA @
GRS G (3« Torar

w1¢ Afsre qage 74 ¢ fwarem sfrs Afors AfFafds ¢ eea
& e I | 98 farerer ¢ fareraa croas wo=ifs 9%

5feTe S faFmremer MfFe Fro 9T T | @ (AT, IEE,
w4 Toriv

52. (@I o v Tuee 512 @1 o 3
a) FAT b) (FTET
c) G d) fafeyg ans. D

I @l S aw fare 513t fafay faz

3 | gy, fafey 2@ F4a1 =8 96 owas
qEN5Z EOTA 9 I | @ T AW (1] ZETE- T @RIEE
gy fafew arezra war za | g fofa awem g eree .. sE
QLA &5% G | (94T (...) 9Ge Serea o w2 fafew
Y Sl @0 ew - @rire fufey a9 s = q
i o wfeig, wife sear- 9@ ... 1 (99T 9597 SPTIE (e (Rl

Ty | ST fow fErTa wane fafes] aregs zrng) |
53. (39 IEH0 Sw?

a) SAY b) fraceEw
c) 7% d) I7& ans. C
Solution: [ERIGEEIDIRI G Rl R U
AT = W feraTeEy = My T =
BN &
TGS = FCAITETS TATGE = TAsEE S| = efers
I = S[HEF] F 1 =g HqZE = 97 4dR
w[fese = s ST = &=l ﬂﬁﬁ:ﬂﬁ@_ﬂ
wasfer = SwpTfe qfe® = 9few S8 = S
fergers = ey G = AR 7R = 7w
54. ‘Memorandum’ €3 sfserar Fi?
a) AN b) S
¢) “WEa eI d) Sead ans. C

55. Y ¢ bfere AT *[/r U2 AT I FACE
eIt & e

a) @FEY
c) FSigarg

b) T
d) «F5eF (¥ ans. D

Solution: REIEMRIFECT I L BaOIE i) i (a0
ARdE e FE ¢ I ICE I
g |

ISICIGRSTI)
ST (ST = Sfefae et w1 | S e WA = WO S
A2 = TSRS TEAE $2 = ALGS]

SEEFUG = Ferd ICE A = TS 7S]
(PEEFO] = I 4G ZF = TIF F1G

¥q &4 = TY 5[4 SO & (siaTa sicersi = 74

57. R (FIAR 672

a) W2 JICHIF IR (RIS |

b) W *Twa LA (LTS |

c) dMIT THS LA FACS |

d) T a1 g49ife @RIce | ans. B

Solution: REGEICIE G RGN G NR T
FEA I TAFET JI2F =¥ | @ @

orza faafoses

BT =094 TR (GRS
TS Atvd SRerE 4R 30
(TG G
F2 GE0E =% GF0AE R

S T-AE (@FONS TR |

SCA-(RELE T (*ITE ©Ad

4] @< WEa9-T%49 Be1g |

BT~ 2T QTaC*d 08T
*Zq |

58. ‘Look before you leap’ @ AoF SgAm
(@H? www.prebd.com
a) FIF (MSTE A O[FNS |
b) wifewr sfas T |
c) (MCY O[Fd =% WIS |
d) SEHFEN Sifqe o | ans. B

Look before you leap 44 ToF S
sif<Er Fhrs e | Trgry, o ewgod Proverb:

WS WeH 2091 #% = Pride goes SIS (FALS ©Ife 98 = Grasp all
before destruction. lose all.

sfe ©f& 51taa =49 = Too "TETS] TR T =
much courtesy too much craft. Ignorance is like darkness.
SqE TIPS & 78 = Too W& @MW = Crying in the

many cooks spoil the broth. wilderness

HOId ¥4 78 = Necessity SHICAA G& & 4 = Empty

knows no law vessels sound much

Ty Sy s bfere o wosd fimers ‘eFvamr
M JC | ST O 8 BieTe ST ARE SEER
vol 9ife | @& Fifea s sy Aifs e et
AT SO A e | O GFE AN
Y @ BETe SEE WA RIS € WEH |
SEHITod @ N2 LTHIE SFHSE! (T 0 |

56. STerfE T [ RICS JITT 4 =2
a) A OF F Al b) ST AT 4
c) ST E Sl d) €l CorEAmans. D
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S LA ¥ <= = Cut your coat

feera va@¥ (S W€ = Oil your

according to your cloth machine/ Mind your own

business

59. A wed @ IRt wAFgS?

a) SAEE b) f€CE ool

) W= b d) *Cegd ans. A
Solution: EEIMERGEEIR FEISIBCHVE R RO G|

faress sargfare “vre =7 |
e oo (g | <ikemm Toe dfe s 3ts a[eeE ool gemne |
I+18)
e A | WL S WCS G 1% 20 SR |
(&FSHE)
o (WFE 3B | SIS RO AGAR S e 20T Zer
S) BIaT- ATSE A0 A 99 |




60. o W IR wae
a) OEPECET (BT (ST (AT |
b) R Sfat@d @F FHCETa o |
c) F FACS T PG |
d) <fs <oaifs 5rFw gor® Az |1 ans. B

Solution: BEEIEIEGIAEE s Ro s eI E Rt

o a) SEFTS (514 (ST (9T |
o ) UE FECS T F4] Sibe 7 |
o d) S GBI 2o Sag |
61. NI a7 Hferr Fre
a) SR b) =TT
¢) o= d) SreFer ans. B
4 2T | (@I
afeferer Siferr ofefemor e
EGiE] ST /ST e et
B ol fery fererr
FfoeT Ffoam A T
5] LEC wrgfere Srgfert
62. ‘@ A7 T 2 It I T2
ﬂ) ?jiﬁigﬂ\u b) EIBIE][\:H
¢) St d) 3&rT ans. B

I @ wam =i of@ = e S,

& ey ey QT e www.prebd.com
@ A 7 6 o Yo = S @ A4 Ao = = g
@ A e (73, 7[o8 (712 = @ =4 ferr e are = feraw

o

@ =arE 2101 e = el

fer Ay 401 (1 = ferweral

(4 1A a0 2 1 = Sl

H%ﬁﬁﬁ@ﬁﬁﬁ:%
@ A S T = BTG
ﬁﬂ%ﬁﬂﬁﬁﬁtﬁﬁ:gmqaﬁr

@ wrarE Wfe fara T = @ e s =g = S
BI]17]
63. ‘Al I A
a) A3 b) S
C)W"I?’ﬁ d) =ewdn ans. B
Solution:[EEIEIHEEIER UL TR
T2 G = Fp O T = I

SN O () = T 7 oS Ag 77 = Afend
4 ¢ e Syl = Mrort TS TS Y T = T

64. TN & waR AR foRr aeR?’ AT AN

%o (@ IR @ [Fofe?
a) FAC S b) ST AT
¢) T S d) 9" M *=7 ans. B
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Iy o s g fapre, 9¥e, e, fiwe,
8, 79S8 AFS TW gR A M (FC S
T, OFL FAWE FEF A0 |

e rd M ST W s waR i fedra amed |
‘Tagrs’ sd ST e SITZ (AT #ITST #TS |
"RTS SE AT FTAFS 7Y (A0E WE 2 |
G LS AW Fae CI&T BTa 29 |
‘faere’ wtd ST T s faere e |
AFS S AAAI FaFe faoiea e @ %59
65. ‘TSt (oA WIR | A TorT @ IR @
fTefe?
a) SAFAC TG b) Sif<=r=te %=y
¢) AT LI d) AW s ans. C

SR =1 o Gl fog Ry, oS, wo,
s, I8, Halgs 8 AFe =7 43R A1 (M4 (FC
Sl T OLF A FEF 901 | @NF3 EFYL
WAB | QAT ERFYd WA FECE Q9
fTofe | g wEso Twizad =T ot o
7|

66. ‘T *THA TN *177 (0?2
a) b) @
¢) FI™ d) ¥ ans. B

foga, feicarer, ferafre |

R S19Y; A%; T G AT TG
F AT ACeTIREA; A T T G
F= °Ml; e er; &1

67. SIS %A ANLS 13 77 (@02
a) vyl b) S
c) 74 d) FT ans. C

Solution REISEIRRSEE IR R TR o

G, A, 90
. e, ey, Taefe, goifs, gl , Jife
T | @, aerer, ST, oy, FRAEAT, wE, w4
e ECEES
68. TS w3 o = Ji?
a) (&S b) FOT

¢) SfqEre d) STore

il d

ans. C



Solution R E AL T C R Sy

T RoRTeIde *m T ReErerE =
e ST e &5 | Az

S Cr] afza AE O
A Az SI17% e

G TG T Fla[40)
ST ST o Skl

e forrg AT aarfe

69. FAfF 3w 9 Jr?
a) JRCFIA b) =
¢) AFARIFAS d) o= ans. B

Solution RIS ERC RS ORI Gt i P el
i feee 1 90T |
70. ST *twq A% (<Co=m I 242
a) Mo + 2 b) 3 + =1
¢) FOr + o d)sof + 2 ans. C
3@ @ 7 o9 T A F-FE
qF Tord e AE-%-FE =W | WY H-IE
S WHCA ML TS T | (T

T4+2=% T4+F=% F+H=% F4+3=5
&fe + 3w = oAfd + F = TS 4 5 = T + TH =
TS AT TS oy

71. TSl *twg M SFfo-2or (@02
a) VAT + g5/l b) IS + =
c)\f?ﬂi+ﬁn d)me—rw + 9 . ans. A

Solution: EIRASENEEECICENI (S YR LD RUE S LIe|
9 e O = | (N
VAT + 95 = e[ VAT g5 = W1 + T = Wl
V@t + 95 = (&Sl VI¢ 4+ 5 = VIY + O = &l

72. ‘9 *E0ET W PPRFIL G A2
a) TGl FALGET  b) Toife Ffqraa
¢) TN FHYET d) Iz 5T ans. B

Solution: IRISIEICKECEE i« e o livh e
AE @ TP 2 G2 @ AN YRS 40

@Al T ACF 1 ©OF SAfTe Fq&Ea 9™

0T | (N3
T4 AL T = FAGT A T U =
50 T T4 = Sy FAMET FCETE T = FEAFAA

59 FACTT TR = S
999 Tl 517 = el
ey PR0EE T = “FaPiRE

73. G FE AAG?

BICWA T 99+ = bIvawel
s o e [ B N e T I o
4 PrrEd I = =Rz

2) SRAFY b) TR
¢) TG d)S@rEeE ans. A
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Solution: RESIKEERCE NElc S & el e IO B
ST | BUHRT, (@ ST #4A0a MW S 4l
A FAFA [qofe F41e 212 [efe @& =™
SITF AW ORAZFY T AL SAFT AT 0 |

(T3
ST (T (AITeT = SToig]

Y (AT TG = AWTE

W7 (ATF TS = AP el (AF & = 4
(& (AT AT = (G (& (0F TG = (&Y%
T (AT BIST = WeTmlgl VT (ATF B0 = WeIRD

% (A GTS = YHETS (T (ATF FHGE = (TFATSF
74. ‘I *TwR ADT AFfo-erora FHiG?

a) V& + W= b) \3f& + ==

c) NI + = d) ARG + 9 ans. C
Solution: RIEIES RN IR RN IS CI Lo S Y

W}Sﬁ+w=%w;ﬁ+w=

BETI; [ + *IFT5 = 4 |
75. IR =twa fofEare == @mie

a) S[aeI<e b) ST

¢) STl d) S ans. B
I *w [{ode W e Wi |
Ty, W e g feide =i

T #5 farirerds = I * feidrerde
Il i W TR
ST T AR ECEIET]
o4 ECIE Ife® ifes
A 2T [ T gl g
Rl =3 arfE feramifs | taar
Wz GIEET Sl feraen
ST AT S GEISE
HqoE BG AT fofim (wmem)
o A S BoAG
S Ghs o T
ST forrm e et
w9 (oIS qE TE [ 1%
ST efferary | effss ATz fewE
ol skl aulEN) i S oo
ST faade HATE A
76. G5 FRAE TS ¢ § & G SIW 0.8, 8 T
R RoF I, FO?
a) ®o0 b) S0
C) 9RO d) Swo ans. C
SATSCE LG AT @ FACT AT 7o
NS T |

ST RYIG =¢ x 8 =0

@G3R 3T UM = v x 8 = 38

G, 0 8 8 GFF, I, @ = 30
Shortcut: V{6 R #1.37.%

= AT Yod TS SIFT X 7%

=¢ XY X 8=30



77.

yoft MR AT o | GV 4N 8 57 v
80 U2 (¥ ¢ 57 9T wo T(F; ¢ T F©2
a) ¢o b) Yo

¢) 90 d) vo ans. C

Solution: ERE KRS EaERarERaigrs

78.

79.

= (8 X 80) + (€ X W0) = VYo + S¢o = Vo
O ALY Yo = wbo — ©do = 9o

NIy el “i%es SR = wbo - (8 x 80) + (€ X

Vo) = Obo - (d¥0o + d¢o) =90
e ¢ g ¥t Fe vat@ v Wt FaCe 2T |
o[l b e Fe F99 A9 Fie ve o | FrEiod

S W IS AFCI?

>
a) g b)

5k )

forem I8 I qrEad W fomed | ¢ I
4 e 37, Y@ [WEE viaed e | forer e

ans. A

v wlv

AT TOAF T 97
a) €8 S b b) 83 8 38
C) 8¢ S ¢ d) ©5 8 o ans. C

Solution: RIGEIE M E IS IEE G i P

-y

80.

*ONCS , Frord oA T = 0F =

¢ %4 A, Y@ T =F - ¢ 29

¢ 924 A, oo 999 = o - ¢ 929
AT, 8(F-¢) = 9F - ¢

8F - 30 = 0F - ¢

¢ =N

foe/ IO« I = oF = 8¢ 924

Q32 ~[C@d O I D¢ 9% |

G0 ANET 51T 2ffs B Yo 39 I 1 51T ¢
GRS I© ol 903 |

a) ¢o b) oo

c) Yo d) wooo ans. B

Solution :RRICEEIEIINE IS EICH I Rt Ao

81.

WYo° TR | www.prebd.com
> 94 A= SO FCd 0vo°
o IE GAC+T Sfo@ (A = WY0o X S0 = V¥o0o°
Yo CTHCE HIFIT A = ©voo°
VYoo X ¢

¢ CTITT B W= —_

86 o 0 B 5w wo B f[(ies waee
O *OR¥ MO 27?
a) 0¢ %
¢) 0%

= woo°

b) ¢o%

d) ¢e¢% ans. B
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aﬁs‘w—ﬂw:qoﬁw

82.

83.

84.

85.

86.

87.

88.

yo0 Wﬁrﬂ—& K;Dozr?o Gl 41 ¢0%
vo 3T ¢ O @ I, YD 5T IO B
R I 30 % S (A2
a) ® b) So
c) 9 d) 52 ans. C
a3 + 3\[3 93 Toims W ese e
a) a*+/3 b) a+1/3
c) az—\ﬁ d) a—+/3 ans. B
ﬁﬂmwmww ﬂlfﬂw?
a)x b)y
y2l-y) d)+ ans. A
y X
logy7 + log,f7 7 99 V< ¥9?
| 5
a)i b)E
c) 2 d) 1 ans. B
x+ 3 x-1
W3 = QRE)  w, x = 7o
5 4
a)—z b)—g
o)z d)> ans. B
4(a + b), 10(a — b) 9 12 (a* — b?) 97 .2
TO?
a)a—>b b)a+b
c:) 12 (a® - b?) d) 2 ans. D
bﬂ?ﬂﬁT 4a+b) =2 x 2(a+ b)
¥ A, 10(a - b) =2 x 5(a + b)
OF A, 12 (a*—b*) =2 x 3 x2(a +b) (a—b)
g a e, =2
wio MY @Ew, owwd [EmweE faed )
TR FoT SGATS F©?
a)2:1 b)3:1
c)4:3 d)3:2 ans. B



89. «ft Jraa IrI 17 ¢1: [ 2 ax +Hfify F2
a) 17n b) 34n
c) 26m d)31ln

s PTe, r = 17 OT: fi:
oAfafq = 2nr = 21 x 17 = 34n &1:

90. p +q=\3ERp—q =2, pg =7

ans. B

3
a) b) 7

b | —

c) 3 d)% ans. A

2 _ 2

Solution: Pq = (p—;q) _ (L2€)
_(:E) (3@)2_2 2 3-2 1
“\2/)7°\2/) 74747 4 ~4

91. 35 3 @R CraTafiE o JRSTFE v
x O i ¢ &g (x — 2) &: ™ =7, x @@

L

FS?2www.prebd.com

a) 7 b) 5

c)—5 d) -7 ans. A
92, @3> (@I 4 @9 180° 2, ©F W ET @

FS?

a) 10° b) 110°

c) 120° d) 160°

93. ft @Ffie YT W ST 119 =, ®O
WRYIe o2
a) 38 b) 59
¢) 60 d) 78 ans. B

0 (=16 Saifs x 20 9@ R = (x + 5) T

TS, (x4 5) 4 X1 =55

R

— xR A e = 33

= W= =D

x:%:':?h
S OB TR = €5
94, O3B AR Toig wiFe Ifrwa @ @I 9F
TORIRTHR ol WifFs IMrwras F el
a) © &4 b) b @
c) 5 @ d) faee ans. C
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95. G)P = 1 %0, p @3 W F7

a) 0 b) 1

c)—5 d) 5 ans. A
96. @6 Arer Ao WG AF 5 Mo Tt ot

fafozey =1 =@ wEe fice 5 fow gaeg

33, Yofba Tl o7

a) /5 b) 10

) 5(1 +4/2) d)5+23 . ans.C
97. «3f6 IfrFrax @3 IR G faedt 6 93 =0,

«F I Arha fRed 9 G557

a) 3 b).3/2

c) 62 d) 8\2 ans. C
98. @t fagrem foqft ders Iffe a1 Teoly

32y (@t foxfog e oo 232

a) 180° b) 270°

¢)-360° d) 680° ans. C
Solution:\iKligakes ol

A
¢o
B hc;:o = Lfo D >

a3fo fasred @ @ 9 My @9 oEsg
fodre 9o (@eod ST ANE | 94q, oAt
Mgy (O FNB 20T Segy fAoars oft @ed
SHEE I | AR fagrea feaft (@iees s =

Sbo°. odrR Uil (FICd E 20T 9vo° |

99, FIfEw  IYAT & Yoo BIFT UR ¢ IIT G
¢oo BT W el g (T see BT I e |
TN (H(E WA A N A, T A T
feet?

a) 8% b) ¢ %

c) ¢.¢% d) ©v% ans. B
100x +y =3, x>+ y? =5, x} +y}=2?

a) 34 b) 9

c) 45 d) 54 ans. B
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